(2) BOD, COD, %5, & £ih., /=17=/—,
LAS (H#ETALFNLRP L AR IR NFOR) OBEE EUEERRI

T BRBTEMEE AR

a BODGI) (AT @ mg/L) (BT @ mg/L)
FRHTIID | RERMESL FE A S N . - o 2 OB
KIB4 D3] WA 75%E | ¥ WA = 75%E
NI [ A Jog]l 12,712 = 100 .oJo9o] 12712 = 100] 1.1
FI5)1(2) eI RS B Joo] 12712 = 100l .1 J1ro] 12,712 = 100] 1.1
K B TEH K A Joe| 12712 = 100 0.6 Jo.5[ 12 712 = 100] 0.6
I AONIEEER A Joe| 12712 = 100 0.6 Jo.6| 12 712 = 100] 0.7
)T (2)  |'= ik A .ol 11 712 = 92/ 1.oJo.8]| 12712 = 100] 0.9
M By (D) [HETE A Jos5] 12,712 = 100 o5 o6 12 712 = 100] 0.5
IR AONEESR A Jos5] 12,712 = 100[{<0.5]08[ 12 712 = 100] 0.9
MEJI| F v )G A Josg] 12,712 = 100 09]o7] 12712 = 100] 0.7
REEJIT(2) TG A 1] 1212 = 10 .21 1t /712 = 92 1.3

N A Jo7] 12,712 = 100 08fJo7] 12712 = 100] 0.8
AEJ(3) EKIE A Jo7] 12,12 = 100 o7 ]o7] 12712 = 100] 0.7

AR 24 A Joel 12 712 = 100/ 0.7 Jo.6] 12 712 = 100] 0.7
BB By |ZHiE AA |<0.5[ 12 712 = 100[<0.5J0.5] 12 “12 = 100[ 0.5

ERE A Joe6] 11 711 = 100 0.6 Jo.6[ 12 712 = 100] 0.6

PDUNEES A Joe|l 12,712 = 100 06 o7] 12712 = 100] 0.7
RT3 A Jo7] 12,12 = 100 o7 ]o7] 12712 = 100] 0.7

WEE A Joe|l 12,712 = 100 07]0.6] 12712 = 100] 0.6

G A Joe|l 12,712 = 100 o7 ]o7] 12712 = 100] 0.6
Cigsipl| AV AL A Jos] 11711 = 100[<0.5]0.5 9,9 = 100] <0.5

N A Jo.6 9,9 = 100[<0.5[<0.5] 8 78 = 100]<0.5
Pr8g)1] T E G B Jos] 12712 = 100] 0.5 Jo.7 6 /6 = 100] 1.1
A By - mmmmssna | A o7 12712 = 100l 0.7 Jo.7] 12712 = 100] 0.8
NI FVE |G A Joe|l 12,712 = 100 o7 ]o7] 12712 = 100] 0.7
)N — 1 B .7] 12,12 = 100l 2.0 | 1.8 9,10 = 90| 1.9
2R EE | =2 AA|<.5] 12712 = 100]<0.5]0.6] 12712 = 100] 0.5
BT A A los] 12712 = 100[<0.5]06] 12712 = 100] 0.7
V= LG AA|<.5] 12712 = 100]<0.5]0.6] 12712 = 100] 0.5
HEI AT A Jos] 1010 = 100/<0.5]05] 12,712 = 100] 0.5
=511 LG A Jos] 12,712 = 100/<0.5]06[] 12,712 = 100] 0.6
EEI 1 A A Joe|l 1010 = 100 o7 ]o7] 12712 = 100] 0.8
KA DRDE A o7 9,9 = 100 0.9 Jo.8] 10710 = 100] 1.0
FA%) | [ ki A Jool 12,712 = 100 .1 ]o8] 12712 = 100] 1.0
KAd)1 T s A Jool 11 712 = 92 1.oJo.8] 12 712 = 100] 1.0
oAl UG A Jos] 12 712 = 100l 0.5 Jo.6] 12 712 = 100] 0.5
) 1] iR K& A |<o.5] 11 11 = 100f{<0.5]05][ 12 712 = 100] 0.5
) HiiEiE A Jo7] 1010 = 1000 1.o]Jo7| 12712 = 100] 0.7
BN EE A Jos] 10,10 = 100 o5 ]o6] 12712 = 100] 0.7
NG J\H )15 A Jro] 11711 = 100 .2]10 7,8 = 88 1.1
B /NEAE A Joe| 11711 = 100 oo7]o7] 11711 = 100] 0.8
+£ifi 1] +-EitE A Jo7] 12,712 = 100 07]o06] 12712 = 100] 0.7
B PRER ] A J<0.5] 12712 = 100/ <0.5]0.6] 10710 = 100] 0.7
= =G A Jos] 1111 = 100[<.5]05] 11711 = 100] 0.5
FHEE HERG A los] 1111 = 100 0.5 0.7 7,/ 7 = 100] 0.8
)] ) |46 A los] 11 11 = 100[<0.5]06] 11 711 = 100] 0.5
KFJ I AE A Jos] 12,712 = 100[<0.5]06[] 10710 = 100] 0.7
& )1 Rk A Jo7] 1111 = 100 0.8 0.5 8,8 = 100] 0.5
== I A J<0.5] 12,712 = 100]<0.5]0.6] 10710 = 100] <0.5
PRI s A Joel 12712 = 100/<0.5]0.6] 10710 = 100]<0.5
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b COD {EE)

(B2 : mg/L)

B G TIID | BREAYES4 FH Sl il It 4 B Sl Fn 2 A 53
KA i EEE W A& 75%fE | F¥y FES 75%{E
BEERIE (1) A B A 1.9 4,/ 6 = 67| 2.1 2.2 3/ 5 60 2.7
F By Hi S A 1.7 6,/ 6 100] 1.9 2.1 3/ 5 = 60[ 2.6
SRR (2) XX g B A 1.4 6,/ 6 100] 1.6 1.9 4 /5 = 80] 1.9
R PLZEE A A 1.7 5,/ 6 = 83| 1.9 1.9 3,/ 5 = 60[ 2.2
O O [ A 1.5 6,/ 6 100] 1.8 1.7 5,/ 6 = 83[ 1.8
Bt A 1.6 6/ 6 = 100] 1.7 1.9 4,/ 6 = 67| 2.2
[N PNS B 3.2 4,/ 12 = 33[ 3.3 3.7 0,/ 12 = 0] 3.8
fr &% W | B 2.8 8/ 12 = 67] 3.1 3.3 5,/ 12 = 42] 3.7
T LS B 2.9 9,/ 12 = 75| 3.0 3.1 7,/ 12 = 58] 3.3
BEHE D A 1.4 4/ 4 = 100] 1.3 2.0 2/ 4 = 50{ 2.1
Ok W [ERE A 1.2 4/ 4 100] 1.3 1.7 3,/ 4 = 751 1.9
T i A 1.1 4,/ 4 = 100] 1.1 1.8 3/ 4 = 75| 1.6
IS PEE) 1 A 1.2 4/ 4 = 100] 1.1 1.7 4/ 4 = 100] 1.8
I ETRVE A 1.3 4/ 4 = 100 1.4 1.7 3/ 4 = 75 1.8
eSS 5 058 A 2.3 3,/ 12 = 25| 2.5 2.9 0,/ 12 = 0| 3.2
V25 B A 2.9 0/ 12 o] 2.9 3.3 0/ 12 = o] 4.0
c BEZRLOEHE (M)
(BHER) (WA : mg/L)
G CiLd | BREREAESA #A SEl n It D fn 2 £OE
KA i LY W A =E LY WA F
Sl B 0.19 5,/ 6 = 83 0.19 5,/ 5 = 100
BRIV (7)) |[MERHILE II 0.15 6., 6 = 100 0.19 5,/ 5 = 100
S 0.17 [ 11 /12 = 92 0.19 [ 10 /10 =100
X3 g BUHiIE 0.13 6, 6 100 0.12 5,5 = 100
BEERYE (1) [EbZEES II 0.15 6, 6 = 100 0.14 5,/ 5 = 100
L) 0.14 | 12 /712 = 100 0.13 ] 10 10 = 100
TL R LA 0.11 6,/ 6 = 100 0. 09 5,/ 5 = 100
w9 B II 0.14 6, 6 = 100 0.14 5,5 = 100
S 0.13 [ 12 /712 = 100 0.12 [ 10 /10 = 100
EEE NS 0.43 3, 6 = 50 0.34 3,/ 5 = 60
ff g% M [P I 0.25 5,/ 6 = 83 0.29 4,/ 5 = 80
T R 2 0.25 5, 6 = 383 0. 24 4,/ 5 = 30
S 0.25 [ 10 /12 = 83 0.29 | 11 /15 = 73
5 15 0.19 6, 6 100 0.24 4,5 = 80
AU 125 YL il 0.22 5,/ 6 83 0.22 5,/ 5 = 100
LY 0.21 11 /12 = 92 0.23 9 /10 = 90
(40%) (B4 - mg/L)
D TITo B 4 $H 55 n It i & 55 Fn 2 A B
KIgkA4 il S W oA ¥ S W oA =E
AL B 0.019 5,/ 6 = 83 0.017 5,/ 5 = 100
EEREVE (7)) [k II 0.013 6,/ 6 = 100 0.016 5,/ 5 = 100
S 0.016 | 11 ~ 12 = 92 0.017 [ 10/ 10 = 100
X3 g BLHIE 0.011 6,/ 6 = 100 0.011 5,/ 5 = 100
BEERYE () [EbZEE I |o0.012 6,/ 6 = 100 0.013 5, 5 = 100
S 0.012] 127 12 = 100 0.012 [ 10/ 10 = 100
TL R LA 0.011 6,/ 6 = 100 0.010 5,/ 5 = 100
w9 B om J0.014 6,/ 6 = 100 0.017 5,/ 5 = 100
RS 0.013] 127 12 = 100 0.014 [ 10~ 10 = 100
LTINS 0. 024 5,/ 6 = 83 0. 038 3,/ 5 = 60
[ A I |0.018 6,/ 6 = 100 0.031 4/ 5 = 80
T R o 0.018 5,/ 6 = 383 0. 028 4,/ 5 = 30
RS 0.018 11/ 12 = 92 0.032 | 11 / 15 = 73
5 0B 0.016 6,/ 6 = 100 0. 024 4,/ 5 = 30
I VB B II 0.023 5,/ 6 = 83 0.028 2,/ 5 = 40
S 0.020] 11/ 12 = 92 0. 026 6/ 10 = 60




d Mg, /=L 7=x/)—LKEORLAS OKAEEMOBREITIRDBRERETEE) Q)

(& ﬁf’\) (WAL : mg/L)
FHH T FEUE S 4 FE A S fn o O & fn 2 L E
KIB4 ) WA F S W A ¥
s BEoCkE 0. 003 2,2 = 100] 0.002 2,/ 2 = 100
i)l eI R EMB 0. 003 4,4 = 100] 0.003 4,/ 4 = 100
N By (1) PAFNE AmAl 0.001 12 /12 = 100] 0.007 4,/ 4 = 100
I By () [JEA S A¥B | 0.003 2,/ 2 = 100] 0.002 2,/ 2 = 100
I AONIEER B | 0.002 2,/ 2 = 100] 0.002 2,/ 2 = 100
BT Q) [=hikE B 0.012 4,4 = 100] 0.010 4,4 = 100

WA 0. 003 4,4 = 100] 0.003 4,/ 4 = 100

5 o KB 0. 003 2,92 = 100] 0.004 2,/ 2 = 100
AHIIF EVN ENB =03 22 = 100] 0.004 2 2 = 100
7k($}ll1ﬁﬂ$$ﬁ 0.003 4 /4 = 100 0.003 4 /4 = 100

BB By |29 EmA | <0.001 4 /4 = 100] <0.001 4 /4 = 100
ER 0.001 4 /4 = 100 0.002 4 /4 = 100

PDUNEES 0.001 2,/ 2 = 100 0.001 2,/ 2 = 100

HEJITR  [EEE £mB [ 0.001 2,2 = 100] 0.002 2,/ 2 = 100
WEE 0.001 4,4 = 100] 0.001 4,/ 4 = 100

YL 0. 007 2 /2 = 100] 0.004 2 /2 = 100

() =)v7=x)—)) (BAL @ mg/L)
ARG TID | BREAYESS Fa A S F ot O & Ffn 2 HE O
KIRL ) MW A ) MWoA =
vE)l] FEoctE A B <0.00006] 2 2 = 100]<0.00006] 2 2 = 100

VE) | 226 <0.00006] 4.4 = 100]<0.00006] 4 74 = 100

I AONISEN A A [<0.00006] 4 4 = 100]<0.00006] 4 "4 = 100
) B () [EAE A8 B [<0.00006] 2 72 = 100]<0.00006] 2 2 = 100
S ANONIIEERT AB [<0.00006] 2 2 = 100]<0.00006] 2,2 = 100
TR OQ =68 AB [<0.00006] 4,74 = 100[<0.00006] 4 74 = 100
TS <0.00006] 4.4 = 100]<0.00006] 4 74 = 100

; PN <0.00006f 2 72 = 100]<0.00006| 2 2 = 100
AHIIF E £ B <0.00006] 2 7 2 = 100[<0.00006] 2.2 = 100
ESIIEER <0.00006] 4 74 = 100[<0.00006] 4 ~4 = 100

BB By |29 A 1<0.00006] 4 74 = 100[<0.00006] 4 4 = 100
ER <0.00006] 4 74 = 100[<0.00006] 4 ~4 = 100

DUNEL <0.00006] 2.2 = 100]<0.00006] 272 = 100

HEJITW  ([EEE AB [<0.00006] 2 2 = 100[<0.00006] 2 2 = 100
WEE <0.00006] 4.4 = 100]<0.00006] 4 74 = 100

S <0.00006] 2 72 = 100]<0.00006] 2 "2 = 100

(LAS) (BT : mg/L)
FRSH Tided | BRETEMES A Fa S oot O & Ffn 2 g
7Kgk _ N2 A E S WA E
] s ey |<0-0006 2,/ 2 = 100] <0.0006 2,/ 2 = 100

EIEER S <0. 0006 4,/ 4 = 100] <0.0006 4,/ 4 = 100

I AONISEN A A | <0.0006 4 /4 = 100] <0.0006 4,/ 4 = 100
I By () [JEA B £ B | <0.0006 2,/ 2 = 100] <0.0006 2,/ 2 = 100
BN AONIEER £HB | 0.0006 2,/ 2 = 100] 0.0007 2,/ 2 = 100
I AON EilE AHB | 0.0011 4,/ 4 = 100] 0.0006 4,/ 4 = 100
Eﬂﬁ% 0.0011 4,/ 4 = 100] 0.0014 4,/ 4 = 100

; PPN 0. 0006 2,/ 2 = 100] 0.0007 2,/ 2 = 100
AT ol E N B 0. 0006 2/ 2 = 100] 0.0007 2.2 = 100
AR HH =4 <0. 0006 4,4 = 100] 0.0008 4,/ 4 = 100

mEJILER ([ ZHiE A ] <0.0006 4 /4 = 100] <0.0006 3, 3 = 100
MERS <0. 0006 4,/ 4 = 100] <0.0006 3,/3 = 100

DYNEEG <0. 0006 2,/ 2 = 100] <0.0006 2,/ 2 = 100

HEJITR  [SEEE 8B | <0.0006 2,/ 2 = 100] <0.0006 2,/ 2 = 100
WEE <0. 0006 4,/ 4 = 100] <0.0006 4,/ 4 = 100

NI <0.0006 | 4 74 = 100] 0.0006 4,/ 4 = 100




